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Reactions of metals and metal compounds/patterns of reactivity
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Q1-L3, Q2-L4, Q3-L6, Q4-L6, Q5-L7

1.
(a)
(i)
iron
do not accept ‘1540°C’
1

(ii)
mercury
do not accept ‘–37°C’
1

(b)
solid to a liquid
answers must be in the correct order
1

both answers are required for the mark

(c)
5

1

(d)
(i)
sodium

1

(ii)
gold

1

[6]

2.
(a)
cast iron
do not accept ‘4.5’
1

(b)
(i)
0.8


1

(ii)
high carbon steel

1

(c)
(i)
any one from

1

· for buildings
accept any other reasonable answer, for
· for bridges
example ‘street lights’ or ‘fence posts’
(ii)
any one from

1

· oxygen
accept ‘air’
· water
accept ‘moisture’
[5]

3.
(a)
in tube B: no oxygen 
accept ‘no air’
1
in tube C: no water or water vapour 
accept ‘no moisture’
1

accept ‘it was dry’ or ‘it was not wet’

(b)
(i)
acidic
1

(ii)
hydrogen
1

(c)
(i)
it increased or it was more 
accept ‘it was heavier’
1

(ii)
any one from
1

· oxygen or water was added

· the oxygen has mass

· rust contains iron and oxygen or water

accept ‘rust is iron oxide’

· the iron reacted with oxygen or water

(d)
Answers must refer to either test-tube D or to sea water.

any one from
1

· the nail was more rusty in D than in A

accept ‘D was the only one which was rusty’

accept ‘D was very rusty’

· it was more rusty in sea water

· sea water contains salt

[7]

4.
(a)
hydrogen
1

(b)
(i)
region 3
1

(ii)
region 1
1

(iii)
region 2
1

(c)
any one from
1

· it is a compound

· it is not an element

· it is made up of more than one element

do not accept ‘it is not a single substance’

(d)
(i)
copper + iron sulphate 
answers may be in either order both
1

are required for the mark
(ii)
the nail becomes brown or pink or copper coloured
1

accept ‘it is covered in copper’

accept ‘it is rust coloured’

do not accept ‘it goes rusty’

[7]

5.
(a)
aluminium oxide
1

(b)
aluminium
answers must be in the correct order
1
iron
do not accept ‘iron oxide’
copper


(c)
(i)
no reaction
accept ‘nothing’
1

accept ‘zinc and calcium oxide’
(ii)
any one from
1

· zinc
accept ‘Zn’
· silver 
accept ‘Ag’
· magnesium
accept ‘Mg’
(d)
zinc + oxygen 
1
zinc oxide
1

[6]
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